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QUESTION 1

An administrator is responsible for the following Nutanix Enterprise Cloud environment:
1.

A central datacenter with a 20-node cluster with 1.5PB of storage

2.

Five remote sites each with a 4-node cluster with 200TB storage

The remote sites are connected to the datacenter via 1GB links with an average latency of 6 ms RTT.
What is the minimum RPO the administrator can achieve for this environment?

A. 0 minutes

B. 15 minutes

C. 1 hour

D. 6 hours

Correct Answer: C

Ref: https://support-portal.nutanix.com/page/documents/details?targetld=Web-Console-Guide-Prism-v5_10:wc-
protection-domain-wc-c.html

QUESTION 2

HOTSPOT

An administrator is configuring an All Flash cluster to support the following workloads:

1.

Full clone virtual desktops

2.

Hadoop

3.

Write heavy databases

Which three correct configuration options should the administrator use to meet the item requirements? (Choose three.)

For each procedure, indicate whether it is a correct or incorrect procedure that must be configured to meet the item
requirements using the drop-down option.

Hot Area:
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Answer Area
Procedure Correct/Incorrect

One container with compression and deduplication enabled for full v

clone virtual desktops '
Correct
Incorrect

One container with compression and Erasure Coding enabled for v

Hadoop ]
Correct
Incorrect

One container with compression enabled for heavy databases v
Correct
Incorrect

One container with deduplication enabled for full clone virtual desktops v
Correct
Incorrect

One container with Erasure Coding enabled for Hadoop v
Correct h
Incorrect

One container with deduplication enabled for Hadoop )4
Correct
Incorrect

Correct Answer:
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Answer Area
Procedure Correct/Incorrect

One container with compression and deduplication enabled for full v

clone virtual desktops
Correct
Incorrect

One container with compression and Erasure Coding enabled for v

Hadoop :
Correct
Incorrect

One container with compression enabled for heavy databases v
Correct
Incorrect

One container with deduplication enabled for full clone virtual desktops v
Correct
Incorrect

One container with Erasure Coding enabled for Hadoop v
Correct
Incorrect

One container with deduplication enabled for Hadoop )4
Correct
Incorrect

QUESTION 3

An administrator has a 32-node hybrid cluster with CPU, RAM and storage utilization of 80%. A database VM is
configured with VM Flash. What is causing this 10 latency?

A. Controller VM is experiencing high CPU ready time.
B. Curator scans causes by ILM constantly moving data.
C. VM Flash Mode reduces SSD tier capacity for VMs.

D. Database VM is experiencing high CPU ready time.
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Correct Answer: A

QUESTION 4

An administrator recently added VLAN 205 CRM in Prism Element. The workloads attached to the associated NICs are
unable to establish network connectivity.

Which Layer 2 protocol allows the administrator to troubleshoot this issue from Prism Element?
A. HDLC

B. SUP

C. LACP

D. LLDP

Correct Answer: D

QUESTION 5

A customer has two mission-critical applications and needs to have them backed up to a remote location. The remote
location is connected using a leased line and has an average latency of 7 ms. Which Nutanix technology will provide the
shortest RPO possible?

A. NearSync

B. Leap

C. Metro Availability

D. AsynandDR

Correct Answer: A

Ref: https://portal.nutanix.com/page/documents/solutions/details?targetld=BP-2005_Data_Protection:BP-2005_Data_Pr
otection
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